Triangles Numeracy Homework Summer Week 1 

To be handed in on 2.5.2011


	
	Depth

	Shallow end
	½ metre

	Deep end
	3 metres


	Length 35 m

	Width 15 m
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Children must be accompanied by an adult.

Swimming Pool

· Tom swims 2 lengths /2 widths. How many metres did he swim?

· How much deeper / how many times deeper is the deep end than the shallow end?

· If the deep end is 6 times deeper than the shallow end, how deep is the shallow end if the deep end is 3m?

· If the deep end is always 2.5m deeper than the shallow end, what will the shallow end be (in cm) for a pool with a maximum depth of 4m?

· What’s the perimeter / surface area of the pool?

· How many (complete) widths would I need to swim to have swam the equivalent of 1 length?

· How might I work out how many lengths I need to swim to complete 1 mile?

· I want to swim 100m. Explain how I might do this.
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